Some chocolates (3n)

Nim values for small chocolate tablets in the game of chomp.
Each tablet is given by its column lenghts from left to right.
If nim value is not zero, then there is a winning move. We hightlight one of them in yellow.
If nim value is zero, the tablet is painted in milka color.
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Have fun and eat chocolate.
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3,3,3,3,3,3,3,3,3,3,3,3 = 26 3,3,3,3,3,3,3,3,3,3,3,3,2,2,1,1 = 30 3,3,3,3,3,3,3,3,3,3,3,3,3,22 = 8

3,3,3,3,3,3,3,3,3,3,3,3,1 = 25 3,3,3,3,3,3,3,3,3,3,3,3,2,22 = 7 3,3,3,3,3,3,3,3,3,3,3,3,3,2,2,1 = 10

3,3,3,3,3,3,3,3,3,3,3,3,1,1 = 27 3,3,3,3,3,3,3,3,3,3,3,3,2,2,2,1 = 8 3,3,3,3,3,3,3,3,3,3,3,3,3,2,2,2 = 32

28



3,3,3,3,3,3,3,3,3,3,3,3,3,3 = 31 3,3,3,3,3,3,3,3,3,3,3,3,3,3,2 = 29 3,3,3,3,3,3,3,3,3,3,3,3,3,3,3 = 32

3,3,3,3,3,3,3,3,3,3,3,3,3,3,1 = 30 3,3,3,3,3,3,3,3,3,3,3,3,3,3,2,1 = 33 3,3,3,3,3,3,3,3,3,3,3,3,3,3,3,1 = 34

3,3,3,3,3,3,3,3,3,3,3,3,3,3,1,1 = 32 3,3,3,3,3,3,3,3,3,3,3,3,3,3,2,2 = 8 3,3,3,3,3,3,3,3,3,3,3,3,3,3,3,2 = 33

3,3,3,3,3,3,3,3,3,3,3,3,3,3,3,3 = 35

29



